R IRE

BESH

NEAEEE
T E

B KW

Pl s

RATESEM

PRIE SRR

BRE AR R
REERX RS BILR
BEERRGABIR
AHESBEANRERK
MTTFd/MTBF
AR s g

T A B RIRFE (typ.) RIBERK
THARERRFE(typ.) BEER
R B A AR
R KRR AR
BRI R
BAEEE(s =R L)
BR&EGBEBE

TR

BAREETR(s =FKL)
BREKBBEITR

PR ES B

i AEE

B SR
EREBFERNBEREF KA
RABEERE

RN Fa s

B K So F Bl [0 B S B

B A 0 VR 4R [0 il TR
THEMEFRE

®RH

IEC 68-2-63% 31 (Amax = 0.75mm, f= 5 ... 2000 Hz)

IEC 68-2-27)F T

REtrE

EN 55022 class B, Emission radiated (230... 1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)

EN 67000-4-4, Burst (on all lines)
EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0. 15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

AW |

-

o

% of meas. range
bit

kHz
kHz

Ls

LS
ppm/K
years
VDC
mA

mA
kOhm
nF

Necm

om
movements
N

N

°c

g

g

aBuVv/m)
aBuVvim)
/4%

V/im

/4%

KV

Vemk
A/m
GOhm
/3%

H35:021-5419 1392 4FT1:173 1638 6953

MH-C

0... 360
+0.3

o1

72

0.1

)

7.66

(800)

4600

700

240 /240
8..35

(19)

74

70

700

yes

Cable 3pole, s
0.25 (AWG24)
yes

Cable 6pole, s
0.25 (AWG24)

360 (continuous)
P54 / IP67
05/3

6000

360 Mio.

100

50

-40 ... +85

20

50

max. 30
max. 37
+4 /48

MH-C2

0... 360

0.1

0.1

14

0.1

)

0.5

(800)

2500

700

209 /209
8..35

20)

75

70

700

yes

Cable 3pole, s
0.25 (AWG24)
no

360 (continuous)
P54 / IP67
05/3

6000

360 Mio.

100

50

-40 ... +85

20

50

max. 30
max. 37
+4 /48

3% :www . tifu-auto.com

ERAR (B FRAF

Vert-X 22 - 24V /0.5 - 4.5V

BRI

R B4R

Ik
FIRL i a A& RaR

FRERIEN

ARRT, FTERARTTLESH
A =N B 5 E

RN Fa

BREENE

EETEHTENA

(RE BR, L,

REZF.)
ERELSAETENS D H#
RANEH

4% =2 MH-C

%ME+0.3%

4 Y151 2bit

T2 TR Ak

tt MH-C2EEH

4% AMH-C2

SME20.1%

2 PEEE14bit

REIR, EEAONAETIE
B/ 4R TE (ATik)

CONIELEC

A company of the Siedle-Group

tik45 :info@imcortech.cn



A |

REREEEAR (LB FRAF

[k S 3

E@BECW

FRAE

E@KBECCW

%2

TR, E@#ECW

%3

TUAR, EEMA B ECCWH 4

TR XRES ML AIES

IE BB EECW #5158 FF X AT EA

IE [ # BECCW i 188 IF X i " A 1% B

E @8 BECW T 28 IF X i A% C

IE [ 4% B COWHF 288 JF 5% i " AT 3£ D

FE#% 5 18 )R E AL E
FERAMBERE T @ FRE A%EF

R BER TS B A IRE A EG

IR R L RUBE R 5 16 AR E A R AR W IEH
Programmable with Vert-X EasyAdapt®a] &P

WHES
0,5VDC ... 4,5VDCHF 2

HEBE
24VDCHR N

Vert-X 2 2 0 1 7 8 6 1 2 1

BRE%A
36FR S E A 360°

QT IE IR A

e RER R E
7MH-C
8MH-C2

LA AR A

2201FR IR QR % M10x0,75 ; 6 mm # D-shape ; IP54
22024 IR R % M10x0,75 ;3,175 mm ¥ #4E 4 ; IP54
2211¥R # A IR 2 % size 9 ; 6 mm Hi D-shape ; IP54
221245 MR IR & %% size 9; 3,175 mm & # #& 5 ; IP54
2231FR H IR R % M10x0,75 ; 6 mm # D-shape ; IP67
2232 MR R ¥ M10x0,75 ; 3,175 mm H # &5 ; 1P67
2241¥5 # A IR 2 % size 9; 6 mm Hi D-shape ; IP67
224245 R IR & %% size 9; 3,175 mm B 5 #& 5 ; IP67
22997 L BRANTE 15 R

xxA[#%03 to 35; Declaration in 10° steps

Vert-X 22 - 24V / 0.5 - 4.5V
Ordering code

* Switch outputs

Please define number

(max. 127), position and width
of the pulses.

B E

AFREE B4 3pole
67 3% B 2 B 4i6pole
AL TR EBL

BYKE

0245 A£1.0m

06 i%£3.0m
10T i%£5.0m
99T I 145 K B8 48

1T H 3R it

T HIAR

T HI &40

FFXIHEE TTL (max. 2)

RSl &

BB SHA SEE 30°to 360° (BT )
BRKATRRE (B4

BIBRAMAERARE (FNLLEK)

HE¥% 5 MCW/CCW AR E / Al ffe (BN &KL M)
RE| JAARE A 4RI (B L R AT

H35:021-5419 1392 4FT1:173 1638 6953

TE(REFEEFER)
MH-C

X X X X X
A
N

o BN B HEE

CONIELEC

A company of the Siedle-Group

W%k - wwwe. tifu-auto.com  iFf:info@imcortech.cn



A}

RREEHEAR (L FRAF

Vert-X 2201 / Vert-X 2231
B4 (incl.)
1x $8& M10x0.75/SW13
) (76 . IX G ERE
17,7, 38,7 R
[ - :.-: e I
- 5Pk w2,
¢
K cE O o
c._* _..[".I il y o __Bb l]f;.‘.
= = L
¥ I~ !
¥
J
i [}
1 i . 5 " i
= . Py [
[,
Vert-X 2202 / Vert-X 2232
B4 (incl.)
1x $8:& M10x0.75/SW13
R Ix B ERE
H o
1 L
N
I
4
0, 8

H35:021-5419 1392  4pT.:173 1638 6953  Muh:www.tifu-auto.com  H4:info@imcortech.cn



AW |

RREEFEAR (LB FRAF

Vert-X 2211 / Vert-X 2241

B4 (incl.)
1Ix BERF
2x g R E
0 Sl R 1244 M3x8
i [ DR
§ 7 0= | BB .
Bl - e il 5 = e . _— =
. .lL_H | o
sy T8 : :-'-.I'I
- =
Fed | - | gl
Lol 1’
o [] X .
s
3;;11 | Jr
i
1__ . i @ i B om?

Vert-X 2212 / Vert-X 2242

B4 (incl.)

1Ix BEXRF
2x W RE AR &
1244 M3x8

CONIELEC

H35:021-5419 1392 4FT1:173 1638 6953

W%k - www. tifu-auto.com  Hif4f:info@imcortech.cn



®RH

BEHEAR (L) BRAH

Vert-X 2211 / Vert-X 2212
Vert-X 2241 / Vert-X 2242

B4
BEXF
30

CONIELEC

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn



	页 1
	页 2
	页 3
	页 4
	页 5



